Bt # BEE-REREHE Behn
ja i 14 100V __ 48 —_— -
i E B % ™ 44 REEEsas o NELTE
BIRHM (Hz) 50 60 240 ST e e
& B [ 2t [a (o5 ()] 2 [d (a3 (hm)| o 30 ST
HESH (W) | 20 | 15 19.5] 22 [15.5] 11 ||im 7s == — — 50Hz
E & (A) [0.220]0. 154]0. 155]0. 250[0. 155]0. 160||~d 54 g [~ —— 6002
B2 (m®/h) |212[150[120/212[140[120 ‘ ‘ —
%1 E0REE(n'/n) [ 145]118] 95 [152[112] 95 || 150 FFr—=m \ \ S
X2 BWESE (n°/h)|127(106) 87 [137[105]87 N 2% 50 -
B & (dB) [35 5] 30 [24.5[35 5]29.5[24. 5 20 o
E £ (ko) 3.0 SRS ; 0 =
B2t & 0240mm 100 N e
RAIT HTE) 2 100mn —EEs NN
ROBE S | JEMERIy7 t-BAEDE || ° NE ~ <
BB M 2 & = uhS SN o
o B R E & Hey 8 N/ . 10 =
EREE S 75 KUT s ”\ N
EERMRE ~10~407C ; =
£ 5 K I IMQBLE (d. c. 500V) N
B & o5 a.c. 1000V 15M = \ 8 - ——
(E)/Uﬁlﬁﬂﬁ’EOPa Bi3H0TT. Ckigk<) 0 50 100 150 200 <
WECAATERE (J1S C9603) ORELLEHNTT. BE (n®/n) Af RYABRZAMN
1 BIRSEUEEREE2 0nnE s . H i -
VK ﬁimﬁﬁimgglﬁéﬁsong/* XEARE 97 MRELVEAAEZCALRBVEIICL
80 mn 230 V-5-EE. TH I nibaTORE (ALYY)
9’74 1 | (l _/+
e q
] — \7 < |
()
of[)D N q
. . AEHT UGN
p m@ ol:iﬂo q
L J
g}p 8 - 0300
— 5 - BEGH<2EERNSA
[ = - = 74979 -BER 1] X]f%ii@;ﬁg%u(%ﬁ) ﬁﬁﬁﬁé% };JE{@FL
p T . i _ .,
Iﬁ‘ ° 2X5. 5 Eormy | &R 000)
;”‘\ &1 - e =l | | | B8
| 9 5 |7 NI -
~l<lo| | . - ~| o E sl == ]
™~ O |~ Fe—a| [ o |} @ TE’(\J}@”E%J
o [N [— | | Z © ; j;%‘ ﬁﬁ%ﬁi _ 7Lll’
| +7-2
]AJ 4/ f/‘ = — 1 2497 (B FY- svmw FY-SVI2WC
0k ‘ BERE < 3EERNEA
e REN
ry 3 o _) B .
v i - K47 (p100) BN
KR 140 ] g
8X5X9ER 754
277 %
. . B E AR
R | b4 | xER| B2 | AT ”f@;@?ﬁfﬁ ) 90 UETEMICTRE AT EaV, | 2797 (Ba) FY-SVI8W, FY-SVZBNC
— = — BAEL 1) IRERBUAS T | BURHARETEE A,
BS| & A @ﬁ 2 ﬂi'ﬁﬁ 2 NE&% e Bz PRERBIIZ/yFIBTENAERT 2540
Lib-n |BS@R || %8 RIEBE | | Wi b-1-y | HRETT,
2 \r-vv7 P P #i [HESE L W
317979 |BRAR | | SyEoRU] 6 | AREZA
4 \AY742 |PPHEIE |1 | KE Z m = %
5 lyryd- |[WE7LZ| 1 |REREREN - - an
BEL FRAR | | AMEAVASE (h-1-8atad 802 (A6 -£8E) SV -924BGTYV /83
7 |E-8- 1 (HAREN - Shifhs - BRI - 13- G674 ) PPRE)
8 | TR PPER | | fERgReE [ 17. 6. 13]R E[m LN
o |®it |PBTHE 1| [ARNBERER|—— — X;f @ DN-513 |
MR 1 YEEAA |17 12. 11]Freef##8S
b= 08- PHIE | 1 [rhd3 2v8.3/0. 5 NFY =T TI 27 AR+

TATA4




